Multiplication d’'un Binome par Deux Trinomes (I)

Simplifiez chaque expression.

1. (—67“5 + 2r4)(7r4 — 6r3 — 3r2)(3r2 —5r+4)

2. (62% 4+ 62) (=627 + 22 — 2)(92* + 22° — 827)

3. (=3r% = 5r)(=7r° + 2r* + 5r%) (—r* — 6r° + 2r%)

L BfFH+9f)(—fP—Af +3)(9f° —8f* —8[7)

Ot

(—=9h° — 5h*)(9R* 4+ 9h? + 5h)(—3h* — 9h + 1)

6. (—a+9)(—7a* — 5a® — 2a*)(—6a" — 8a® + 2a?)

-3

(=3K° — 9kM) (9K — 9K 4 5k*)(—4k* — 3k — 1)

8. (6r° + 3rH) (=8 — 3r? — 9r)(8r% 4+ 2r — 1)

9. (=6n° — n*)(=6n* + 3n + 6)(—5n° + Tn* + n?)

10. (32 + 82%)(52° 4 821 — 823)(—62> + T2 + Tx)

MathsLibres.com




